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PHYSICAL EDUCATION
Paper - 11
Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

6. Match List-I with List-II and select
the correct answer from the codes
given below :

1. Gymnastics was most popular in

(A) Scandinavia

(B)  Japan List - I List - IT
(©) Germany I. Formal System of 1. Palestra
(D) Sparta Spartan Education
II. Institution of 2. Agoge
Higher Learning

2.  Plato is referred to as the father of
(A) Idealism

II1. Public Baths 3. Thermae
with Sports and

(B) Naturalism Fitness Clubs
(C) Pragmatism IV. Atherian Wrestling 4. School of
(D) Essentialism c jChOOI Grammatics
odes :
3 Man’s most potent socialization by
process is P Ay 24 3 !
(A) Social courtesy ECB; ; : 1 i
(B) Social visits D) 2 1 3 4
(C) Social understanding
(D) Social interaction 7. In Hypoxia little O, reaches
(A) Braincells (B) Heart
4. The most powerful factors for (C) Lungs (D) Tissues
growth and development are
(A) Genetic factors 8.  Muscle activity is entirely dependent
(B) Environmental factors on
(C) Nutritional factors (A) Supply of Oxygen
(D) Specific  programme  for (B)  Nerve and blood supply
Physical Education (C) Environmental stimulation

(D) Nutritional input

5. The Olympic Motto ‘Citius, Altius,
Fortius’ was coined by 9. Power Sports Athletes generally

(A) Baron Pierre de Coubertin make use of diuretics in order to
(A) increase blood supply

(B)  Father Henry Didion (B) increase muscle strength

(C) Juan Antonio Samaranch (C) bring down tension

(D)  Suresh Kalmadi (D) manage loose body weight




1.

TR fRret

e - 11
e : T YRS H U= (50) TE-ToshedE UeA § | Ueieh U9 o & (2) 3R & | Wl IeT o 3R SN |

e Teg 21feres et ot
(A) TRUSHATIET

(B) S

(C)

(D) ¥

el Tl ST & T T ST Sl §
(A) ITRRER

(B) wHiceg

(C) aRATTFHATAR

(D) ATaTIAERE

IS <l GATTeeh AT UishaT ©
(A) G Qs

(B) WIS AT

(C) QST T

(D) HmEISTF SFaR-ara

g 3R TThIE & Teret g Tk &

(D) SRR To1e o faferse shraishe

FIfEIT & vex fopdeh 517 f5U U 2

(A) T URR 2 Fafed
(B) IR &R T

(C) i u=if = guR
(D) G FeHrE!

6.

T — I Gt — 1§ GfeTd hifTe 3R
TS F H YR W el ST P a9
FHITT -
T -1 oG | |
I @A forem 1. YT
CIR G EEILEA ]
II. 3= forement | 2. 3wy
1. BT Ud e 3. a9
FoTdl Afed Ik
EHR

IV. TR Sl Wl 4. Thed 3
ey

EEE

et
—

I I

<

(A)
(B)
©)
D)

BN
—_ W A A

3
1
1
3

B~ B W=

T AR | 3o
g &

(A) TRasH HifTHN

B) &

(C) wws

(D) ek

AU foha qoraan ek &
(A) 3RS St STTHAT TR
(B) af=rer U Tod HHROT R
(C) RN STSTehl T

(D) SR 3

viferd Tel | o1k AR HGR A
Yo AT ©

(A) T SUCTSHAT g % [T |

(B) HIGUSTE drehd SgH & [oTT |

(C) TE I Y T & oW |

(D) o5 FH A & [T |




10. The no.

11.

12.

of hours
carbohydrate
competition is

required for
loading before

(A) 3to6 hrs.
(B) 6109 hrs.
(C) 9to 10 hrs.
(D) 1to4 hrs.

Make the correct choice from
Assertion (A) and the Reason (R)
from the codes given below :

Assertion (A) : The Pyruvic Acid
formed during aerobic
glycolysis in the Kreb’s cycle
passes into mitochondria. It is
further oxidised.

Reason (R) In Kreb’s cycle,
oxidation of Pyruvic Acid
produces Energy, Carbon di-
oxide, Water and Lactic Acid.

Codes :
(A) Both (A) and (R) are correct.

B) (A) is correct, but (R) is
wrong.

© (A is
correct.

wrong, but (R) is

(D) Both (A) and (R) are wrong.

In Second Class Lever, resistance is
located between

(A) Fulcrum and force
(B) Force and resistance
(C) Fulcrum and resistance

(D) None of the above

13.

14.

15.

16.

Which of the following is not
banned by International Olympic
Committee ?

(A) Cocaine
(B) Marijuana
(C) Ephedrine
(D) Alcohol

In sprinting races, the most

important factor is
(A) Legpower
(B) Heart size
(C) Leglength

(D) Type of muscle fibre

The height and time of the flight of a
projectile depend only on

(A) Initial vertical velocity
(B) Horizontal velocity
(C) Power of the thrust

(D) Angle of release

Hyper extension occurs when the
angle of extension is beyond

(A) 60°
B) 90°
(C) 180°
(D) 80°



10. Uiqwel-yd  FEwEEse

11.

12.

TS oAl
FHATETY Sl STE9TehdT, 52l H &

(A) 3¥6HT
(B) 6¥9HL
(C) 9¥ 109w
D) 1§48

3TyeRer (A) 3R 7% (R) ¥ U&d & &
MR T F&l IR &l T4 it |

ATHIT (A) T & T T TR
TCATSRICITE AT o SR T g ieeh
ufae HESihivgar | uge Sl € |
ST 3T SHFHFOT BT |

@b (R) : e o o5k | UTEHiah UMES &
Afe@aRor ¥ S,  hEA

TLATHATEE, ST 3R cAfdeeh 37T
fmmoreEa ®

A
(A) (A) 3R (R) I TEE |
(B) (A) W&, <] (R) T & |

(C) (A)Tod &, W (R) WEI € |
(D) (A) AR (R) T TATE |

T o & IdieTes | 37eY foheeh &t
TATE?

(A) TheTshH 3TR I
(B) TR 3R 3TeRIY
(C) oTshH 3R 3TeRIY

(D) SR | g Tal

13.

14.

15.

16.

I T STASTH YRS SR ST

Tffa gRT wfqenfed & & 2
(A) IhA

(B) HRISHT

(C) g

(D)

ST 7T Y JTST | %A R &
(A) ORI I TR
(B) 7T MR
(C) U ot ofmaTe
(D) WU o] o THR

TeF JITUT Sl 38 hael HaTe 3R g9
W E

(A) URMTH A= o7 W
(B) WHERE AT
(C) oo il vt
(D) o= 1 0T

forer 10T o TvETa AfdRe Rawme o

BT e ?

(A) 60°
(B) 90°
(C) 180°

(D) 80°



17.

18.

Match List-I with List-II and select
the correct answer from the codes
given below :

List -1 List - II
I. Hinge Joint 1. Knees,
Elbows
Phalanges
II. Saddle Joint 2. Thumb
III. Amphiarthrosis 3. Slightly
Joint movable
joint
IV. Diarthrosis Joint 4. Freely
movable
joint
Codes :
I o 1 v
A 1 2 3 4
B) 3 2 1 4
< 2 3 1 4
D) 1 2 4 3

Match List-I with List-II and select
the correct answer from the codes
given below :

List -1 List — II
I.  Hunger 1. Nurture
II. Gregariousness 2. Unlearned
motive
III. Curiosity 3. Social drives

IV. Environment 4. Wonder
Codes :

I O I IV
A 2 1 3 4
@) 2 3 4 1
© 1 2 3 4
@ 3 2 4 1

19.

20.

21.

22.

Which of the following is not
correctly matched ?

(A) Kyphosis — Convexity of
thoracic region of
spine

(B) Lordosis - Inward curvature

of spine

(C) Scoliosis — Exaggeration on
normal concavity
of lumber region

(D) Flat Foot - Existence of good
arch of the foot

Trial and Error learning is also
known as

(A) Organised learning
(B) Self learning
(C) Instinctive learning

(D) Informal learning

When a tennis player attempts to
learn golf it is

(A) Positive transfer
(B) Negative transfer
(C) Zero transfer

(D) None of the above

Inter-personal conflicts among team-
mates are generally due to lack of

(A) Goodwill

(B) Skill level
(C) Efforts

(D) All the above
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23.

24.

25.

26.

Make the correct choice from

Assertion (A) and the Reason (R)

from the codes given below :

Assertion (A) : The management of
professional sports like
football, baseball or basketball
recruit players with very high
pay.

Reason (R) From the above
statement one can deduce that
players play for the sake of
money only.

Codes :

(A) Both (A) and (R) are correct.

(B) (A)is wrong, but (R) is correct.

(©) (A) is correct, but (R) is
wrong.

(D) Both (A) and (R) are wrong.

Which of the following facilities is
most important for implementing
school physical education
curriculum ?

(A) Synthetic hockey field

(B) Indoor pistol shooting range
(C) Indoor badminton hall

(D) Indoor multi-purpose hall

Intramural
important for

(A) School level
(B) College level
(C) University level
(D) All the above

competitions are

Growth in elementary stage as
compared to the early childhood
moves at a

(A) Slower pace

(B) Same pace

(C) Faster pace

(D) Very very fast pace

27.

28.

29.

Match List-I with List-II and select
the correct answer from the codes
given below :

List -1 List - 11
. Time-table 1. Course of study

offered by an
institution

II. Syllabus 2. A document
including all the
learning
experiences
provided to the
students

III. Curriculum 3. Outline of
contents

IV. Professional 4. A document

Ethics showing what to
be done by
whom and at
what time

Codes :

I I 1 Iv

A 4 3 1 2

B) 3 4 1 2

< 4 3 2 1

D) 3 1 2 4

Health of a person is significantly
influenced by

(A) Routine
(B) Life-style
(C) Attitude
(D) Aptitude

The important nutrient found in fish
is

(A) Omega-3
(B) Vitamin K
(C) Zinc

(D) Copper
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30.

31.

32,

33.

For every kg. of body weight the
basic energy required per hour is

(A) 1.3 cal.

(B) 1.5cal.
(C) 1.7 cal.
(D) 1.9cal.

A communicable disease that hit
India in 2009 was

(A) Cholera
(B) Typhoid
(C) AIDS
(D) HINI

Which of the following is correctly
matched ?

(A) Infection of the — Contagious

soft part around  disease
the tooth
(B) Infection of — Trachoma
the eye
(C) A disease that — Periodental
spreads from infection
one organism
to another
(D) Infection of = — Conjunctivitis

throat, nose
and eyes

Principles of overloading is that
(A) Load should be maximum

(B) According to the capacity of
athlete

(C) Load should be more than
optimal

(D) According to the body weight

34.

35.

36.

37.

Isotonic contraction can also be
called

(A) Dynamic contraction
(B) Static contraction
(C) Concentric contraction

(D) Eccentric contraction

Which of the following events is not
included in heptathlon ?

(A) High Jump
(B) 100 m. sprint
(C) Javelin Throw
(D) Discus Throw

Which of the following game does
not provide time-out during play ?

(A) Volleyball
(B) Football
(C) Handball
(D) Basketball

Match List-I with List-II and select
the correct answer from the codes
given below :

List -1 List - II
I. Badminton 1. Harbans Singh Test

II. Hockey 2. Lockhart-
McPherson Test

III. Physical 3. Russel Lange Test
Fitness

IV. Volleyball 4. Fleishman Battery
Codes :

I O I IV
A 4 3 2 1
@) 3 2 4 1
© 1 3 2 4
@ 2 1 4 3
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32,
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38.

39.

40.

Descriptive  study in Research
describes and interprets

(A) Present status

(B) Past status

(C) Future status

(D) None of the above

If a distribution of scores is

symmetrical its Mean and Median
will

(A) Dbe the same
(B) over shadow the mode
(C) stand poles apart

(D) not coincide

Match List — I with List — II and
select the correct answer from the
codes given below :

List-1 List - I1
I. Hamstrings 1. Hips
II. Gluteus 2. Laterally in
the back

III. Latissimus Dorsi 3. Back of
thighs

IV. Gastrocnemius 4. Calf

Codes :

I IO m v
A 2 1 3 4
@ 1 4 2 3
<c 3 1 2 4
@ 4 2 3 1

41.

42,

43.

Match List-I with List-II and select
the correct answer from the codes
given below :

List-1 List - 11
I. Bardiagram 1. No dimensional
diagrams
II. Histogram 2. Three
dimensional
diagrams
III. Cubes 3. Two
dimensional
diagrams
IV. Pictograms 4. One
dimensional
diagram
Codes :
I I m Iv
A 1 2 3 4
B 4 3 1 2
<o 4 2 1 3
D) 4 3 2 1

Which of the following is not a Test
of Cardiovascular Endurance ?

(A) Tutle Pulse Ratio Test
(B) Philips JCR Test

(C) Harvard Step Test

(D) Run Walk Test

Which one of the following is not
the function of management ?

(A) Planning

(B) Union leadership
(C) Directing

(D) Co-ordinating
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44.

45.

46.

47.

Participative type of leadership

(A) allows subordinates to take
decision

(B) seeks inputs from subordinates
(C) directs subordinates

(D) involves subordinates in
decision making

For a good test the descending
sequence of importance of its
components is

(A) Validity, reliability, objectivity,
administrability

(B) Reliability, validity, objectivity,
administrability

(C) Validity, objectivity, reliability,
administrability

(D) Administrability,
reliability, objectivity

validity,

Maximum volume of air forcefully
expired after minimal inspiration is
called

(A) Stroke volume
(B) Tidal volume
(C) Vital capacity

(D) Minute volume

The state of balance and equilibrium
in internal physiological conditions
is known as

(A) Metabolism
(B) Hypokinetics
(C) Homeostasis

(D) Anabolism

48.

49.

50.

In 110 m Hurdle Race the distance
from the starting line to the first
hurdle is

(A) 15m (B)
(C) 13.50m (D)

13.72 m
13.60 m

Match List-I with List-II and select
the correct answer from the codes
given below :

List -1
I. “t’ Test

List - 1I
1. A group of
participants,
treatments
selected from a
larger population
II. Inference 2. A statistical
technique to
assess differences
between two
groups
III. Sample 3. Generalization of
results to some
larger group
IV. Population 4. The larger group
from which a
sample is taken

Codes :

I I 1o Iv
A 2 3 4 1
B) 2 1 3 4
< 2 3 1 4
O 2 4 1 3

L.Q. is measured by the formula

(A4) 1Q.= Chrlg/:lirigtizileage x 100
(B) 1Q.= Chrﬁl:;?aglizgleage x 100
© 1Q = Pryiotosio age X 100



44.

45.

46.

47.

TR Foh o A H

(A) T S HOE o o STHid
TAE |

(B) TR § e TR S € |
(C) e ol FesT g o € |

(D) Tl Bt (O o9 § |1 e
SA@E |

TS 3T WU o S &k RGN Hewd
HTHAE

(A) Fudr, fovagHgar, s,
T &TAaT |

(B) fowagHigar, dowar, s,
I leh & |

(C) audr, S,
TRTATh &7 |

(D) IR &, e,

o [a o
[FIRIGAIAT, TEJST |

o La
[ARAHATAI,

[T UeEE % 9 Siel TS 9y
TETH T ST ?

(A) T diegH
(B) <TEee oo
(C) arEea Hufae
(D)  foefe e

IRF IRRIAT o TrmeEen 3R
FoT TN I el &

(A) TRt
(B) ®TEUIehIE
(C) whErRfaw
D) ==

48.

49.

50.

110 HieX &Sc1 319 H YR 3@m 9 yaq
TEAR T

(A) 15dieR (B) 13.72 iR
(C) 13504 (D) 13.60 HieX

Tt — Il et — [T § FHTeTd shiteTe 3R

TET F h IMER W el IW H 997

T
-1 T - 11
L 2r wiefor 1. WEWIiEl W W9
518 e o ot gt
SEET | AT T4
Tl
Il A 2. = WHel § 3R
ST o Ueh
giferent fafy |
111, ¥ueT 3. ¥ 31F IS el
o UIROTHT ST
GTROTRIT |
IV. S8 4. 9% 991 99 My
et s forar e
Tl
% :
I I I 1Iv
A 2 3 4 1
B 2 1 3 4
C 2 3 1 4
D 2 4 1 3
Sifegeh TIfe I HIT T HTHer €
A 3T

(A) A= m x 100

(B) ai. :W\:E x 100



Space For Rough Work



	D-47-10.pdf
	D-47-10 _Physical Education.pdf

